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Answer one of the following three problems. (000 3000 100000000)

Problem 1 (5 points): We define an equivalence relation =2 as follows: 0000000000000
000000 =000000000

A= B A<l Band B<P A

Prove that the relation =5 is surely an equivalence relation. Precisely, you need to show that it is
reflexive, symmetric, and transitive. 0000000000000 O00OO0O00OOOOOOOOCOOO
g000bO00O0O0obOOobOOoooOooDoboooobooom

Problem 3 (5 points): It is nonsense that defining the class coP because coP = P. Prove coP = P.
0000 coP=P0O000O00O0 coPOOOOOOOOOOO0OOcoP=PO0OO0O0OM

Problem 1 (5 points): Prove KNAP<PBIN. 0 KNAP<PBINO O OO O M



